arcsec

arcsec

2](degrees)

o[m

2
QO OO - = -
oo

50

o0
on

100
50

NGC 4409

arcsec

-50 0 50 -50 0 50
arcsec arcsec
0.30 O e e
I ] f h= 22" |
- 1 Mo0.23 0.4 7 h,= 4.4
- 7 h= 87"
L 414015 1
H -1110.08 E
. :
000% ¥ i
W i
B 111-0.08 E
- 1j-0.15 E
B 1-0.23 E
\ ! \ -0.30
-50 0 50 80
arcsec Radius (arcsec)
A 140
- A § » 120 3
-- A F B — . S E
- E < 80" =
- E g 60 E
- ' E S 40° =
o T e = 28 - -
: A , TN 0. E
0 20 40 60 80 0 20 40 60 80
Radius (arcsec)
r — 1 Q.. AT
- + ! Qo - - Fpo & e
= i - Qpaloeor - Ay(fon) ..
E+ + . . E rrg)all)lo-corr . A4max .
- +, 4 T Qe Vi, © 103.87 o7 km/s
- N . r%%:’”'y | - Soum & 33.751 150 g
o + . (QQaronlyyhalo-corr . Vi eun(Roo) & 73.87 28 km/s
i + NN ] .Bum\" top .
i R + . ! (rt()}eg—only)halo—corr : dRV3_6um(O) - 78.1 j-1166..08 km/S/kpC
P T Q(Fon) © --- M,/M,(<R,,) : 1.24
0 20 40 60 80 Qli.ot.’co)rr(r ). A
Radius (arcsec) E_T bart v .

oo * omee



